
(20 points) # I .  Suppose that the ecotiorny cnii be described by the following system 
or  equations and parametric values: 

Cbrrsrrtnpfiorr: C = 100 + 0.5 Y' - Sr, ieifh I# = Y - Tnxexc.r 
Irrr~esttrrent: I = 206- ISr 
Gol~erlrltrelrt 

Sl)enWrrg: C = 200 
l'nxcr : T - 40 + 0.20Y 
Ncl I?xports: N X =  100 - .20Y 
Renl M o n q  Uenmnd: (M)" 0.80)'- 20r 
I(t?fll d4011t~J L~tl /7/>!~: (n4)' - 500 

,vlrers rve ossrtrtte the price level P = 1 isfl.red 

I.. . -- . 

Answer each of the followilig questions: (Sliow all work - Circle your answer) 

(A) Calculate [lie level of equilib~.iu~n ir lco~l~e YC 
(J3) Calculate the equilibrium level of interest rntes re 
(C) Calculate the equilibrium level of ~ n o l ~ e t a r y  velocity. 
(I.)) Calculate lhe equilibrium goverlrlnent baldget surplus(or deficit). 
(E) Calculate the ecluilibri~un trnde surpllls (or clelicit). 

(20 1)oiots) #2. Suppose that ttie aggregate procll~ction function of a11 economy can be 
wrilten as 

Answer the Followi~lg questions: (Show all work -- Circlc your answer) 

(A) If K = 1 ,  the11 wliat is the delrrn~ld for h b o r  fi~nctiori? 

([I) I T  the strpllly of labor Lq = (WIP)~ and K = I, tlieri the eclr~ilibrirlll~ 
real wage is equal to what'? 

(C) If prices and wnges are flexible and K = I, the11 the Fttll emp loyme~~ t  olrtpot 
level is eq~lal to wliat? 

(D) I ,el K - 1 arid suppose fixed W = 25 wid1 P = I, then the aggregnte 
output srlpplied is equal to tiow lnuch? 

(E) Let K - 1 arid suppose fixed W = 25 and P = %, tlien thc nggregl~te 
o i ~ t p ~ ~ t  strpplied is equal to how much? 



(21) poiats) #3. Briefly answer the followi~ig questions about inflation: 

(A) Given n price index P,, what is the exact iorll~ula for calculnting inllation? 

(11) Why do econornists feel inflation is bad? 

- 
((,) bxp_Idn the relatiotl between i~~flntion nlid real money demand. 

(I)) Wliat is "the Phillips Cntre"? 

(1;) What causes hyperinflation? 

(20 poillts) #4.  Al~swer both questions using IS-LM and I~alance of payments curves. 

(A) Ex$ain why that morletnry policy i s  very ilief'lective when tlie economy is on 
fixed excha~i~e rates. 

(13) r2xd.3bl wliy (hat fiscal policy is very inefkctive when the economy is on 
flcxihle exchange rates. 

(20 poinfs) # 5 .  Answer the following two questions on r~~lernployrnenl 

(A) Many econornists havc argued that there is a "11ntn1-nl rnte of onemployrnetlt". 
flow call we define tlie natural rale of ilnemployment. 

(13) What rectors an'cct the netur'al rate oiul~ernployme~~t? 


